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2 26,997,754
| 163,521
Al 26,870,504
2 19,421,045
HAW P95 Y SH(ANI=EX/0 - HAE) 209,300 1,486, 141 A1,276,841
| 11,900
Al 11,050
2 186,350
HAEES Y 2HEUS WS 209,300 1,486,141 A1,276,841
o] 1,900
Al 11,050
= 186,350
HAW SEX 15,000 4,540 10,460
| 10,400
Al 2,300
2 2,300
201 LByl 2,240 2,240 0
| 1,568
Al 336
2 336
01 AR eIt 2,240 2,240 0
02YLy 2,240
OSEXNY FAHNARNG HELY
70,0009 +8% *43] 2,240
| 1,568
Al 336
2 336
301 LHBAI 12,760 0 12,760
| 8,832
Al 1,964
2 1,964
NIREEE P 12,760 0 2,760
OSEXY FAENAANY 12,760, 0002 12,760
o] 8,832
Al 1,964
2 1,964
HAUBNBSAY 13,300 25,360 ~12,060
Al 3,000
2 10,300
202 01t 4,200 3,600 600
01 2Uioibl 4,200 3,600 600
CETIE] 4,200,0002 4,200
203 AR =Y 2,100 2,000 100
03 AlMEZ AR =Y 2,100 2,000 100
OFAY U ASSXYLEZ 2,100,008 2,100
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A AR =X
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&2 LI IAIE B E (ctel: &
SNBSS - MEAY - BES 0l &k o4 e bz 2
AZI S XIALE =R (AL S XI /AL S S X L Bt 1,943,119 1,551,466 391,653
LAY &= 1,943,119 1,551,466 391,653
22 2 0IS32 dF, HES 1,411,571 1,551,466 A 139,895
201 LBt A 14,400 11,040 3,360
01 AtE222|H] 14,400 11,040 3,360
O t=ZH| 14,400
otrszl& HEE Il 24 14,400
. MOF22I 8,000& 3000 x22] 4,800
o I 9,000& *300 x23] 5,400
. = 7,000 *300JK x23] 4,200
401 A &HIL 2048 1,397,171 1,540,426 A 143,255
01 Al&t| 1,372,225 1,524,138 A 151,913
o244 AR222IB2EY MFSA 208,000
Od=H| 1,800, 000& 100 m’ 180,000
OIIEAHSE NI 300, 000& =60 m* 18,000
O& A 10,000,000& 10,000
Oy HH22BE2Y M=ZA 161,000
OEX bl 700,000& »230m’ 161,000
OHAN HEILIEZEY MUFSA 70,500
OEX i bl 750,000& 94 m* 70,500
OSE SUHEZY MHEFSA 47,381
OFa=1:] 550,000& +81.75m’ 44,963
O& Y| 2,418,000& 2,418
OF=s LY=2F=2Y AEIM 160,730
OFak-1:] 1,800,000& «85m 153,000
OF= 1] 7,730,000& 7,730
SN AABZEY A=A 208,300
OA=H| 1,800, 000& *100m 180,000
OJIEAESE NI 300, 000& *61m’ 18,300
OF-= 1] 10,000, 000& 10,000
o= SUEZY AFEIAM 207,100
OA=H| 1,800,000 «96m* 172,800
OJIEASE Y| 300, 000& »81m’ 24,300
O&AHI 10,000, 000& 10,000
Odts =LI2Y MEIM 209,214
OFak-1:] 1,800, 000& 100 m’ 180,000
OIIEHSE NI 300,000& *70.35m’ 21,105
O4 A bl 8,109,000& 8,109
022 HE=HI 100,000,000 100,000
02 Zeldl 19,208 7,021 12,187
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OFAN AABZY A=3AL 4,200,000 4,200
OME SHEZY A3 AL 4,200,000 4,200
OdtE ZLZEY AFIA 3,379,000& 3,379
03 Al =0HYI 5,738 A 3,529
0Z=z2d OS2 x5 . B
910,763,000& *0.63% 5,738
Losia 55 531,548 531,548
401 AIEHIZ 2B 531,548 531,548
01 Al&HI 519,998 519,998
O dR2LoA=X& SFE3At 418,365
O =H| 1,800,000& *219m’ 394,200
(@F=D; =] 394,200,000 *6. 13% 24,165
O MRS SE3AL 101,633
OA=H| 700,000& *133.25m’ 93,275
O& Al 93,275,000 *8.96% 8,358
02 Zclyl 8,040 8,040
SRL=X2 SESAt
394,200,000 *1.54% 6,071
O MRS SE3A
93,275,000& *2. 11% 1,969
03 Al&=0HYI 3,510 3,510
okros=I& 5= 487,475,000& *0.72% 3,510
COISX S (AE=X /=0l ) 147,059 1,241,300
, 781,709
7,589,848
, 775,502
COIHII=ERIAIE X , 465,768 593,290
Al 606,877
, - 858,891
dz2g K& , 412,268 A590,290
Al 591,627
e 820,641
201 er29h| 72,700 4,350
02 S=2494| 72,700 4,350
(OF=r=teat==k:ll 26,100
OZdzg JtAotHA
27,000& *300IH 2~ *13] 8,100
OFZE MI|tA 2 AbH|
60,000& *300JH A~ *13] 18,000
OA&&Hl RX4] 46,600
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301 LEtEAZ 1,136,700 1,205,000 A68,300
Al 561,400
= 575,300
01 AISIEE " =03 1,136,700 1,205,000 268,300
OZzY 294l XN  120,000& 380 L +12& 547,200
Al 273,600
= 273,600
OZzY Hetdl XI¥  500,0002 x23] *x3800H 2 380,000
Al 156,750
= 223,250
OZ=2Y dgdl X3 330, 000& #3804 2~ 125,400
Al 94,050
i 31,350
OlsEZ=2Y 244l K&
60,0003 1504 A+ 12 10,800
OUlsEZ2Y el X
250,000 * 1501 & x23] 7,500
Ookel=E3HdZ2Y 238l N&
200,000 = 1200 &+ 12& 28,800
OSEXRAUKNG(MSH) 223 22|
5,000, 0002 104 2 5,000
Al 5,000
OSEXRAUXNA(MAsH)BEY 2]
2,000,000 *16H 2~ 32,000
Al 32,000
307 212t01& 83,468 97,008 A 13,540
Al 12,227
= 71,241
02 2ItAASE X 83,468 97,008 A 13,540
OZ=Y =3 ZT= 08 22Xt Bi X
24,454,000 =2 48,908
Al 12,227
= 36,681
Od=2Y H2==0| N3AAL
40,0003 x8H «123| 9 34,560
405 KH&HFE SHI 119,400 632,200 A 512,800
Al 18,000
= 101,400
01 XL SSFHSHI 119,400 632,200 A512,800
OZZYEHSI X JAL (LARID,TVE)
1,500, 000& x125 B *2CH 36,000
Al 18,000
i 18,000
oM 2 350,000& * 120 &~ 4,200
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BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
BN B O - HSAY - B2 Sh Of] &F o8 e
OOt Xt 1,500,000& = 12CH 18,000
oZ2exzdl #¢ 1,500,000& x12CH 18,000
oO&d=J| 7¢ 1,200,000& = 12CH 14,400
oozt 2 1,200,000& = 12CH 14,400
oOdHEN 5 P 1,200,000 »12CH 14,400
Lcolthst & oEstsY N 53,500 56,500 A 3,000
Al 15,250
iy 38,250
307 QIz2to| A 53,500 56,500 A 3,000
Al 15,250
o 38,250
02 Q2B AEX 53,500 56,500 A3,000
O &stsY 2dHl XI& 2,500,000 *1IH 2 2,500
Al 1,250
o 1,250
oLoltie 2gdl XI& 51,000
OLoltis 294l 6,000,000& =8I &~ 48,000
Al 14,000
= 34,000
OR=x=0olHe 2MEIE 1,000,000 *3IH A 3,000
MNASLEOIRJ AN 17,171,734 14,828,299 2,343,435
10,734,209
3,598,230
2,839,295
LOISXSEAE 543,040 535,840 7,200
301 LetE A= 533,040 525,840 7,200
01 M EEA=G2 504,000 496,800 7,200
(OFSEEat= BN = 30,000& 1,400 x12& 504,000
07 SI2t21=2/(4 | 3,240 3,240 0
OLel=X 2UAIAHX S&KX| oHelAS
1,800,000 *3H x60% 3,240
10 AR HIEAZ 25,800 25,800 0
OZ=zY=FH HF s AHIE4
10,0002 *200E = 12& 24,000
OLQAURT HAX Bat= 10,0003 *80H 800
OLo=XgRAR & &AL AHIE4
10,0003 *50H *23] 1,000
307 2I2t0| ™ 10,000 10,000 0
02 SI2tZAE X 10,000 10,000 0
OXNEHEY S2ALSY 10,000,000& 10,000
Lol xe &5 575,100 1,098,170 A523,070
= 211,050
Al 211,050
o 153,000
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101 el H] 24,300 15,768 8,532
= 12,150
Al 12,150
04 JItHIZ2E2NHEE S 24,300 15,768 8,532
Okelgditel a2 el
900,000 3 +9& 24,300
= 12,150
Al 12,150
201 Let2d| 37,770 33,998 3,772
= 12,385
Al 12,385
= 13,000
01 AbR2t2lH| 37,770 33,998 3,772
Ol dXtelAry 2O Z | 37,770,000 37,770
= 12,385
Al 12,385
i 13,000
202 O4Hl 4,230 4,230 0
= 2,115
Al 2,115
01 =LA b 4,230 4,230 0
O YTl AP +E
47,000 *5H «3 «63] 4,230
= 2,115
Al 2,115
301 LEtB A= 493,500 739,072 A245,572
= 176,750
Al 176,750
= 140,000
01 AISIEE " =0l= 490,000 726,832 A 236,832
O XA 490,000
OMEZAE =0 200,000 «100E +7& 140,000
O AL 200,000 *250H «7& 350,000
= 175,000
Al 175,000
10 BAIAHIEA S 3,500 12,240 28,740
OolgdtelAtY HRHE L 3o &A AHIE
& 10,000 350 13| 3,500
= 1,750
Al 1,750
307 QI2+0I A 15,300 305,102 A 289,802
= 7,650
Al 7,650
02 Bl2tAAE X 15,300 305,102 A 289,802
okoldNelM(REE) 15,300
@)eikal:] 200,000 *10H+7& 14,000
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ol HASL QXIS ALY (eel: &
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
= 7,000
Al 7,000
ORUZ I 130,000 %102 1,300
=2 650
Al 650
HetcQlsl HYNAME 26 X2 6,000 6,000 0
Al 3,000
2 3,000
307 212+0I A 6,000 6,000 0
Al 3,000
2 3,000
02 QIAPARE 6,000 6,000 0
OLQIF YA HME 2l 6,000,0008*1H 4 6,000
Al 3,000
2 3,000
ALOI2Y 29 489,000 0 489,000
2 130,600
Al 341,400
2 17,000
402 SIHXH2O0IH 489,000 0 489,000
=2 130,600
Al 341,400
2 17,000
02 BI2HCHE AR 489,000 0 489,000
OL-QIARIAY (BAH) 183,600
SLIEN 200,0002 1202 +7 168,000
=2 84,000
Al 84,000
SEEL 130,000 * 120 15,600
=2 7,800
Al 7,800
O=OIARRIALY (AIZE)  1,300,0008 x50 65,000
2 32,500
Al 32,500
OL-QIARI2IA (I I AE)  150,0008 +30% 4,500
2 2,250
Al 2,250
owQlgxtel Mol 900,000 * 12 92 8,100
=2 4,080
Al 4,080
oAlLIZY 29 210,800
OAlLI 28 2| 200,000, 0002 200,000
Al 200,000
OANLIOIZE BAR MWL 2
150,0002 62 » 12 10,800
Al 10,800
OANLIOIZY XY (LE5HES)
17,000,0002 * 1CH 7,000
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Al 6,000
= 174,000
307 QI2t01™ 180,000 180,000 0
Al 6,000
= 174,000
04 CIZFSHALE X 180,000 180,000 0
OLoloY Y AZoY A X
10,000& *18,000 180,000
Al 6,000
= 174,000
SO ASA 2SKA 6,000 6,000 0
Al 6,000
301 LetEA3 6,000 6,000 0
Al 6,000
01 AMIEEE 63 6,000 6,000 0
Ot SAES 20,0003 »25H = 12& 6,000
Al 6,000
ColAHAAE 1,785 1,785 0
Al 1,785
301 LEtEAZ 1,785 1,785 0
Al 1,785
01 MI2EE X6z 1,785 1,785 0
OLQAURH(75 23,8003 x75H 1,785
Al 1,785
=gz 14,490,638 12,327,083 2,163,555
= 10,143,446
Al 2,608,315
[ 1,738,877
301 LEEAZ 14,490,638 12,327,083 2,163,555
= 10,143,446
Al 2,608,315
= 1,738,877
01 MIE2EEE =63 14,490,638 12,327,083 2,163,555
OJI==8AHZ2(14,258Y) 14,490,638,000& 14,490,638
= 10, 143,446
Al 2,608,315
= 1,738,877
SOIEANO BSHIXE 53,475 46,500 6,975
Al 26,738
i 26,737
301 YeHE A 53,475 46,500 6,975
Al 26,738
= 26,737
01 MIEEXE>06l= 53,475 46,500 6,975
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Al 26,733
2 26,737
SOl Al SRS A 118,620 93,000 25,620
Al 59,310
2 59,310
301 YBrBAZ 118,620 93,000 25,620
Al 59,310
2 59,310
01 Al BZ X453 118,620 93,000 25,620
OSHEQ Aol S AL
BO00R! %6592 +3002 118,620
Al 59,310
2 59,310
YZAY 29 195,000 170,000 25,000
Al 131,250
2 63,750
301 YerBAZ 20,000 20,000 0
10 BAAHIZ A S 20,000 20,000 0
OYZAY KSAR AHIX&
10,0002l *8% 2502 20,000
307 212+0IH 175,000 150,000 25,000
Al 131,250
2 43,750
02 QIAHABE 175,000 150,000 25,000
OARAY 2ANA(BMA) 175,000,008 175,000
Al 131,250
2 43,750
THOH= O ALAHHHE AL S 157,200 157,200 0
Al 150,000
2 7,200
307 12+0I & 157,200 157,200 0
Al 150,000
2 7,200
02 QIRAHABE 157,200 157,200 0
OHSEE MHIH-O AAHE AMYS
2,5002 +2002 *300L! 150,000
Al 150,000
OHSZE MIt=ol AAHE SEH X (58
&) 10,0008 *5% *125] +122 7,200
COSEAHIA AY 355,876 206,721 149,155
= 249,113
Al 53,382
= 53,381
307 812+0I & 355,876 206,721 149,155
= 249,113




SN
X XH .
S Tt

el

At = X ot

LOISXSX (A =X/
NASEX AL

wol.

=

0t

A)

[l

(=] % ol (= (=] 1E- I|_-|LI;=|_||:_ =
SNBSS - HRAY - BHES Aboy e HIRZE2
A 53,382
2 53,381
02 B2t 4 160,780 15,000 145,780
owols JATE[EN 160,780, 0002 160,780
=2 112,546
Al 24,117
2 24,117
05 BI2tIEt3 195,006 191,721 3,375
O=olEE SEMUIA 2 195,006,000 195,096
=2 136,567
Al 29,265
2 29,264
COIMEAIA K| 3,066,907 3,510,952 444,045
=2 47,500
Al 2,942,001
2 77,316
OISR M E oHl K 2,934,707 2,313,604 621,103
Al 2,875,991
2 58,716
301 et 2,934,707 2,313,604 621,103
Al 2,875,991
2 58,716
01 A3l 2,875,991 2,237, 140 638,851
Crs 8 S2AX N
1,752, 186,0002 1,752,186
Al 1,752,186
OZQFNERAL SY(SHYZ)
370,685,0002 370,685
Al 370,685
O=QORERAIL BAX X2
753,120,00024 753,120
Al 753,120
12 JlEk 58,716 76,464 A17,748
ok 8 A2 (1674 4)
30,0002 x03224 +35| *70% 58,716
EXPUEN 95,000 1,169,748 A1,074,748
=2 47,500
Al 47,500
402 212kX 95,000 1,169,748 A1,074,748
=2 47,500
Al 47,500
01 212t 95,000 1,169,748 A 1,074,748
o= 2A(H297)
95,000,000 95,000
= 47,500
Al 47,500
MEIZSTIAE ASI=Z2Q SAY) 37,200 27,600 9,600
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OMI=US AL SAL XML&

150,000& 19 x12&
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442,650

400,000
400,000
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34,200
34,200

442,650

ZOHASXNSE(ASX/HAANSXE)

H =W

9,542,157
2,257,391
6,901,961

382,805

8,373,530

1,168,627

H =W

3,270,164
1,951,982
1,202,042

116,140

2,397,708

872,456

786,001

550,201
235,800

1,237,987

A451,986

=

786,001

550,201
235,800

1,237,987

A451,986

786,001,000&

= W

786,001

786,001

550,201
235,800
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A451,986

65,145

45,601
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A AR =X

M ZHASXSE (MK /HAAHNSKH)
Bl MASES ZOHIME XA (cel:ae
- _ = A C
SN -3 S2ARAH) - MFAY - BES O &F 4 Ol & o8 Hlus2
301 Yergaa 65,145 65,145 0
= 45,601
Al 19,544
01 AMSIBEE63 65,145 65,145 0
OHHOtS =2 (34Y) 65,145,000 65,145
= 45,601
Al 19,544
ESHMO Jx3 929,930 0 929,930
= 650,951
Al 278,979
301 dErEaa 929,930 0 929,930
= 650,951
Al 278,979
01 ASIBEE63 929,930 0 929,930
OSZHOMQ JIE=HS(1,376¥)
929,930,000 929,930
= 650,951
Al 278,979
Zohel o ZHI X & 23,473 48,774 A 25,301
= 18,778
Al 4,695
301 YprB A3 23,473 48,774 25,301
= 18,778
Al 4,695
01 AMSIE2EE263 23,473 48,774 A25,301
OXOHelol2H| XI&(89) 23,473,000 23,473
= 18,778
Al 4,695
ZOHIS=EEHl X 376 376 0
= 188
Al 188
301 Yerga3 376 376 0
= 188
Al 188
01 MBI EE263 376 376 0
O SS X (20Y) 376,000 376
= 188
Al 188
O HEERI|? 0T 4,767 4,423 344
= 3,813
Al 954
301 YerEa3 4,767 4,423 344
= 3,813
Al 954
01 AMSIEEE263 4,767 4,423 344
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HH: HA=2XNST(AE =
R NASE ZHUUSOHE XA (98

_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
OZMNAMELEIIT RE(61) 4,767,000 4,767
2 3,813
Al 954
DOjOIEE LT ML A 446,973 394,549 52,424
2 312,881
Al 134,092
307 BI2HOI 446,973 394,549 52,424
2 312,881
Al 134,092
05 PIZteIEr2 446,973 394,549 52,424
OZMWOAHSSEXIR(%BY) 446,973,002 446,973
2 312,881
Al 134,092
ZOHOISTHEXIE At 387,600 79,200 308,400
2 271,320
Al 58, 140
2 58, 140
307 eI2H0IE 387,600 79,200 308,400
2 271,320
Al 58, 140
2 58, 140
05 PIZteIEr2 387,600 79,200 308,400
OTONOIS THEXID A (702)
387,600, 000! 387,600
2 271,320
Al 58, 140
2 58, 140
20§ O1 44 2 OF X X 2 434,050 409,217 24,833
Al 376,050
2 58,000
201 Yer2 Yyl 58,000 0 58,000
01 AR eIl 58,000 0 58,000
OZNASE 7Y 58,000
OUHSSHHE LATEIO(HRZTH)
33,000,002 33,000
OQUMNSSHHE LATE0(AHS S)
25,000,002 25,000
301 LB 328,050 327,850 200
Al 328,050
01 AEIBHE462 328,050 327,850 200
OFAZONO ITLWOIZ +SXA(1Y)
5,000,000 5,000
Al 5,000
OFOj4L FIIXIA(5308)  318,000,0009 318,000
Al 318,000




A AR =X

M HOHQAZSE (AME =X /HAHSK)
SRl HASS FOHOIMB oI ALY (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
CEEEEREEEREEICE)
1,250,0002 1,250
Al 1,250
OZOHQIBHP MWIHLSAHIA  3,800,0008 3,800
Al 3,800
307 2I2H0IH 48,000 64,117 ~16,117
Al 48,000
02 pIANBNBE 48,000 64,117 ~16,117
Ol SOHIZ OIS JHE Y2 X2 AL (10}
&) 48,000,000 48,000
Al 48,000
N RIPUEET 7,746 9,177 A1,431
= 6,197
Al 1,549
01 LsrE A 7,746 9,177 A1,431
= 6,197
Al 1,549
01 AtSl2Z =452 7,746 9,177 A1,431
O 04l X+A St (9) 7,746,000% 7,746
= 6,197
Al 1,549
00l = Xl 2 K2l X & 25,738 43,000 A17,262
= 12,869
Al 12,869
201 Yer2 ) 1,938 4,300 A2,362
=2 99
Al 969
01 At 1,938 4,300 A2,362
CHEIES=Y] 1,938
OFfI =T LT2IAY 2 CHY|
14,0002 *17% 1,938
= 969
Al 99
01 LsrE A 23,800 38,700 A 14,900
=2 11,900
Al 1,900
01 AtSl2Z =462 23,800 38,700 £ 14,900
OZOHQI =X LX2I A (17%)  23,800,0008 23,800
= 11,900
Al 11,900
U BH 20 X2 139,365 71,820 67,545
= 69,683
Al 69,682
01 LB A 139,365 71,820 67,545
=2 69,683
Al 69,682




A AR =X

M ZYUEXNBA(ASISK/FHAHSKH)
Sol: HASES HOHQIMBOHXIAAY (Etel: &8
_ _ _ Muo
RA B SA(BH) - NRAY - B 01 e HRE2
01 AFSIE2 =453 139,365 71,820 67,545
OFNWUHYELOIXI&(122) 139,365,000 139,365
= 69,683
Al 69,682
SO EH RO TN EAL 19,000 15,200 3,800
= 9,500
Al 9,500
401 AlEHIL 2O 19,000 15,200 3,800
= 9,500
Al 9,500
01 Al&H 19,000 15,200 3,800
OSUEINL FUHEAY
3,800, 000! *5Al CH 19,000
= 9,500
Al 9,500
ZOHQI=RAE L SHHSSE S5 6,271,993 5,975,822 296, 171
= 305,409
Al 5,699,919
= 266,665
ZOHOI SRS L ASHAKS 71,504 98,804 A27,300
201 ety 6,604 5,500 1,104
01 At el 6,604 5,500 1,104
CEIEIES=] 4,800
OFMWAMEN MAQ 75
602! %10,00004 *8 4,800
oeg+y 1,104
OXNA=XRVE 3l0 FHasg
0,0002! 72 *13] 490
OFMHAASHAANL DS BALY 614
. SARY 400,000 *13| 400
. AblRaE 214,0009! %13 214
0O+3EAY R 4+ 70,0002 103 700
301 YptBAZ 1,600 4,004 £2,404
10 BAAHIZ A S 1,600 4,004 A2,404
OXNABHBAIK YPROIRS| FHAX AHlE
& 20,0002 x20% *43] 1,600
307 BI2t0IH 63,300 89,300 26,000
02 SIABAEE 63,300 89,300 26,000
OFO§QI X S XHCHS! 16,000,000 16,000
OFNIINEHE 11,000,000 11,000
SR 33,000, 00084 33,000
OFojelol < o 3,300,000% 3,300
ZOHOIAE 2% N 5,589,670 5,459,562 130, 108
Al 5,394,509
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SN

I‘I iH:

Y=}

At = X ot
ZOHASAST(AM2SX/HAAHSKE)
DU AAE R HH=2gEdst

SAH-HH . () - MBEAY - BHA2 Aol e HRS2
iy 195,161
301 LEtEAZ 38,880 46,656 NT, 776
12 JIEtE A2 38,880 46,656 NT, 776
OIS XAIE |2 30,000 432 *33| 38,880
307 2I2t0| ™ 5,550,790 5,412,906 137,884
Al 5,394,509
iy 156,281
02 OIZ2ZtEMNE X 5,550,790 5,412,906 137,884
O&HOMI=AIAIE SALXCIA ] 454,200
OS&EX2EA 22|
1,500,000& * 1 A+ 12 18,000
Al 18,000
OZHI& oAyl 1,200,000& 4 A= 12& 57,600
Al 57,600
OAESANL ™I EHI
150,000& *145H 123 261,000
Al 261,000
oo=22a4 60,000& 80 x12& 57,600
Al 57,600
(OPNEEN=] 40,0003 x125H x12& 60,000
Al 60,000
OFAMLAAIE SALXCI 24| 105,067
OX &I 150,000 x23H x 12 41,400
Al 41,400
OXZH=Y 40,0003 x20H x12& 9,600
Al 9,600
ooz2t=2824 60,000 x18H = 12& 12,960
Al 12,960
Od&dHI&ol Y| 1,270,000& » 1 =128 15,240
Al 15,240
O A XHF A 500& 1369 x365 24,820
Al 24,820
ouelgsgz 6,980& * 1504 1,047
Al 1,047
OO MEAIE 2HHI(4HA)
3,295,097,000& 3,295,097
Al 3,295,097
OZOHOIAATHEAIE 2HHI(3HA)
677,516,000 677,516
Al 523,735
iy 153,781
OFAMNQAAE 2HUI(10HA) 901,423,000 901,423
Al 901,423
OHMOIF2AHESAIE 2B (1HA)
73,257,000& 73,257
Al 73,257




SN
X XH .
S Tt

el

At = X ot

SN

=1
R
121

5,000,000&

Al

Al

H =

37,230
37,230
2,000
2,000

5,000

2,500
2,500

192,725

96,362
96,363

148,606

44,119

= W

192,725

96,362
96,363

148,606

44,119

OOrIZ208 HHIFY(S

Odl & a =H

A XI(332.37m)

62,000,000&

&I 2| 3F)
8,400, 000&

9,765,000 «1CH

AXI(91.2m)

25,000,000&

= W

= W

192,725
70,400

62,000

31,000
31,000

8,400
4,200
4,200
9,765
9,765

4,882
4,883

25,000

12,500
12,500

87,560

43,780
43,780

148,606

44,119

418,094

209,047
209,047

168,850

249,244

402 912

418,094

209,047
209,047

168,850

249,244

oNo—

40,000&

’

H

418,094
374,608

316,440
158,220

168,850

249,244




SN

X{ ZH -
S = -

NEEyn!
ZHOH QI = XIS & (AFS] = X1 /5
Sl HOHQISXAE U SHRYE

loe

0x

INEED

kol f

SN HB SR (BIH) - A - B S 0l &b S D=2
- cTo=m IO T ° - [EEMREECES &= 0:”/‘l|_% WS
Al 158,220
OZSH(MAIIT B2H&t2) 58,168,000 58,168
= 29,084
Al 29,084
OHRHMUIESHAEY JIsEB2AS 43,486
OsExH(12215) 23,638,000 *1CH 23,638
= 11,819
Al 11,819
o= Ext 19,848,000& = 1CH 19,848
= 9,924
Al 9,924
B - IIEXNAANZ=X/ER - HELHY) 34,336,222 26,031,033 8,305, 189
= 13,617,554
| 136,761
Al 11,017,215
i 9,564,692
SEFAMEXE 28,394,481 21,282,288 7,112,193
= 12,638,100
Al 7,109,249
= 8,647,132
ESANE2IE s 1,327,290 899,020 428,270
201 Let2d| 3,920 6,920 A 3,000
01 AtE22/Hl 3,920 6,920 23,000
o2&+ 3,920
O3 &Y 70,0003 14 x4 3| 3,920
202 O4Hl 4,200 3,600 600
01 =Wl 4,200 3,600 600
o222l 4,200,000& 4,200
203 HRF&Hl 1,800 1,800 0
03 AMBFIHRFAY| 1,800 1,800 0
O2=AME ¥ HdFRFA 1,800,000& 1,800
301 YptEaazg 15,000 35,400 220,400
07 212te1=2| (4 H| 15,000 15,000 0
O2BSAESAA AL EX AS
2,500, 000& *10H *60% 15,000
307 QI2t0IA 1,256,370 851,300 405,070
02 2ItBAE X 1,243,370 843,300 400,070
(ORPNEEYNINPSEP) Fals] 460,320,000 460,320
OHNOIHESDA(ESBRAIL)SL224E
100,000& 4 H « 12 4,800
OsHE FRXNEAE BESIHH N&
300,000 *300H *23] 180,000
OS8XS BHEHOls EF]E
60,000& x250H <128 180,000
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A A= XD
ZE: 25 }ENA(MZX/2S - FEL0E)

CHPl: ESALK (erel: @ 2
= X xH cCtel (s = A HA X2 A} OH X‘—-IL'EL‘:— =2}
—l—/\‘l‘ox—u'u_l"r|(9—lj:”)'}\’”—r I't:J"uJo—u 04|_F—| 0;||/\|-OH HlDI_Bt:J

— T

ESAME HE0ts Ss52xH X&
0

10,0002 5,500 13l 55,000
PEAE HASOHS AAIHI(1450H2)
10,0002 2,800 * 128 336,000
OBIIASAL SESEE YUY X
200,0002! * 10074 2 20,000
BEANE WRIAHALAY ASEXS
50,0002 * 1457 £ 7,250
04 BIRAE AT 13,000 8,000 5,000
OESALBAR I8talE o1asl X2 (3He
a3l 5,000,00024+15| 5,000
OSSAEBAN AL DEX
8,000,00024+15] 8,000
402 RIRAX20IH 46,000 0 46,000
01 PIXI=EE 46,000 0 46,000
OFSXALSIAIL DD
230 £%2,000,0002! 46,000
BEALSAKQAALS FIHXS 1,099,394 1,915,014 £815,620
Al 549,697
2 549,697
307 QI2H0|H 1,099,394 1,915,014 £815,620
Al 549,697
2 549,697
02 PIYMBE 1,099,394 1,915,014 ~815,620
OB HOIEZ R SAISBARXIH (62%)
72,000,0002! 72,000
Al 36,000
2 36,000
OO XIRBAKEH 1 HI (8124, J1 906 )
807,440,000% 807,440
Al 403,720
2 403,720
ORZYYASLEBFALSATSY
101,760,0002 101,760
Al 50,880
2 50,880
OUNAZBYLIAILS AR
326, 00021 2% * 122 7,824
Al 3,912
2 3,912
OB HOISESALRS2(55%) 52,370,002 52,370
Al 26, 185
2 26, 185
SEAE W (1450H2)
400,0002! * 1457 2 #13] 58,000
Al 29,000
= 29,000
SARFOIZE] X2 5,872,232 4,820,042 1,052, 190
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AT MEISX
HH: 28 - IEXNF(MI=SX/ES - IIFSLHY)
el EFAIEXE (98

0x

SNBSS - MEAY - BES 0l & 24

-/

=1

R

121
==
El
i
oy

el

= 2,936,116
Al 1,468,058
= 1,468,058

307 &l

e
v

Ol & 5,872,232 4,820,042 1,052,190
= 2,936,116
Al 1,468,058
= 1,468,058

02

=
~

S 5,872,232 4,820,042 1,052,190
5,872,232,000& 5,872,232

= 2,936,116
Al 1,468,058
= 1,468,058

Hoo¥

W H
0Kt
=
pal
re
¥
==

©)
ko

02
10
=}
H
0
U
pal
FY

17,797,913 0 17,797,913
= 8,908,658
Al 4,454,331
= 4,434,924

307 2120l & 17,797,913 0 17,797,913
= 8,908,658
Al 4,454,331
= 4,434,924

05 QI2t9lEr

g§= 17,797,913 0 17,797,913
oxsEsz € NE 17,797,913,000& 17,797,913
8,908,658

4,454,331
4,434,924

H =1

AWol= sdH 252 NE 546,000 0 546,000

168,000
378,000

H =

307 2120l & 546,000 0 546,000

168,000
378,000

H =

RIS PNEES 24,000 0 24,000
OB AFSFAILOIBOIS X (20%)
24,000, 0002 24,000

12,000
2,000
05 9I2t9IEr3 522,000 0 522,000
CEEETCCE) 312,000,0002 312,000
156,000
156,000
CEEEIESIHE 210,000,0002 210,000

H =

H =

EA4E 0101E0ts =X 1,237,488 749,910 487,578
618,744
309,372
309,372

H =4

301 Let2a= 1,237,488 749,910 487,578
618,744

H

_21_




S AEIS I
U 28 FSAR(MASK/2T - HELO

0x

)

el ERAIEXR (&te @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
Al 309,372
= 309,372
01 MBIBEAE2E 2 1,237,488 749,910 487,578
OESAE 0I0I20ts LS XA (1,031H)
1,237,488,000& 1,237,488
= 618,744
Al 309,372
= 309,372
BSAAL 294 X 203,568 203,568 0
= 101,784
Al 50,892
= 50,892
307 QI2t0o|A 203,568 203,568 0
= 101,784
Al 50,892
= 50,892
02 QI2HFAEX 203,568 203,568 0
OXt22H| (120014 ) 203,568,000 203,568
= 101,784
Al 50,892
= 50,892
W W PH X 91,59 125,908 A34,312
= 45,798
Al 22,899
= 22,899
402 QItX=0|A 91,59 125,908 A34,312
= 45,798
Al 22,899
= 22,899
01 Q228X 91,59 125,908 A34,312
ORIZHIIHESAIE WIHDTFHI (120004 )
91,596,000 91,59
= 45,798
Al 22,899
= 22,899
BRAE JsE2AY 54,000 0 54,000
= 27,000
Al 13,500
= 13,500
401 Al&HI LY 30,000 0 30,000
= 15,000
Al 7,500
= 7,500
01 Al&H] 30,000 0 30,000
OXBXNIESAIE MELHI (1)
30,000,000 30,000
= 15,000
Al 7,500
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S AEIS I
U 28 FSAR(MASK/2T - HELO

0x

)

el ERAIEXR (&te @2
- < - PSS I =
2N -3 - c2(3H) - NEME - HES Ol AFoH @E% Hl =2
= 7,500
402 QIEXH=0|A 24,000 0 24,000
= 12,000
Al 6,000
= 6,000
01 QI2HR=EX 24,000 0 24,000
OXBEXNIEFSAE HHIH X (3MHA)
6,000,000 6,000
= 3,000
Al 1,500
= 1,500
ORIZtBE AL MWESH KK (2MA)
18,000,000 18,000
= 9,000
Al 4,500
= 4,500
BRAE 252 A 20,000 0 20,000
401 Al&HI LY 20,000 0 20,000
01 Al&H] 20,000 0 20,000
ON2I0I=0lE MELZ2AHBIHA)
20,000,000 20,000
SSAILSA A 145,000 126,000 19,000
Al 72,500
= 72,500
402 BIZHR=0|A 145,000 126,000 19,000
Al 72,500
= 72,500
01 QItR=2EX 145,000 126,000 19,000
OLZE&H 2 DS HSAIY
1454 2 %1,000, 000 145,000
Al 72,500
= 72,500
Ol =X MU A2 S} 4,081,681 3,104,146 977,535
= 377,425
Al 3,308,957
= 395,299
O2I0|LeA 2 OlsSRAE ST 29,500 21,500 8,000
201 LEt2HH| 3,500 3,500 0
01 AFRZ2lH] 3,500 3,500 0
o2g+Y 3,500
O0tsAs &L 70,0002 x25% x23] 3,500
301 LEIBAS 1,000 1,000 0
10 SHAIAHIE A2 1,000 1,000 0
O0tSS2 JIIELUS X S AS AlH I BA
10,0009 x25%H %43 1,000
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A AR =X

I 298 SN (MISX/2S - HEL0Y)
©H9l: OlS=XIAHIA 23 (el ®e)
_ _ _ N E
SAN-ZH-SA(FA) - NFAY - BES Off &F oK bﬂngﬁ HwsZ
307 ©I2r0IM 25,000 17,000 8,000
04 BIZFSHAIE X 25,000 17,000 8,000
OO0l #AXIH 25,000,0002 25,000
XHOISHE 28 X 398, 126 258,213 139,913
= 192,063
Al 199,063
= 7,000
307 ©I2H0IM 398, 126 258,213 139,913
= 192,063
Al 199,063
= 7,000
02 QINHFAEE 398, 126 258,213 139,913
OXIOISHE X (1442) 384, 126
o2yl X 384, 126,0002 384, 126
= 192,063
Al 192,063
OXIOISHE T2 At
1,000,00021 * 147 £ 14,000
Al 7,000
= 7,000
OLS =X LA X2 160,680 86,520 74,160
= 112,476
Al 48,204
307 ©I2r0IH 160,680 86,520 74,160
= 112,476
Al 48,204
02 SIAFARE 160,680 86,520 74,160
OOtS=X WA 160,680, 000! 160,680
= 112,476
Al 48,204
ZAI0LS SAHIXE 1,454,145 875,000 579,145
Al 1,240,234
= 213,911
301 YstEAZ 1,160, 145 557,480 602,665
Al 1,019,734
= 140,411
01 AtSlB &= 263 1,160, 145 557,480 602,665
OYSE FA ZASZ A
3,50021*1,783% *00 L 561,645
Al 421,234
= 140,411
0F.2,ZEY ZASS A
3,5009*1,800% *05 598,500
Al 598,500
307 ©I2r0IH 294,000 317,520 23,520
Al 220,500
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©OARRI =X

D ES - IIEXE (A2
?: ots=

Jio
S
Jn
He
2
0x

XA HI A 25 (B9 @e
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
= 73,500
02 QIAHNBE 294,000 317,520 £23,520
OXISOLSMEl SAHI XY 294,000,0009 294,000
Al 220,500
2 73,500
AUAEIIE L IIH DSOS 89,880 83,200 1,680
Al 89,880
01 LerE A 89,880 83,200 1,680
Al 89,880
01 AtSIEE = 2513 89,880 83,200 1,680
OAHAUINIA L HIDISOISE SYSRE
2 70,0002 <1072 * 128 89,880
Al 89,880
AUAEIIFYIIFRALOIS X & 257,290 202,940 54,350
Al 151,567
2 105,723
01 Lstea 257,290 202,940 54,350
Al 151,567
2 105,723
01 AtSIEE X 4513 257,290 202,940 54,350
OAEA I F ML IHE 9IS 0HS 25101 4 3 Y 4,610
Osst 130,0002 102 »13] 1,300
Al 910
2 390
OZSstu 80,0002 18213l 1,440
Al 1,008
2 432
Onssty 170,0002 %1124 13] 1,870
Al 1,309
2 561
OAEAUIIYHULIIHSISOIS A, T =]
100,0002! +107% *23] 21,400
Al 10,700
2 10,700
OAE AL IFS AICHL OHE 2 = 0HS Hl 4 bl
100,000 %80l CH13] 8,000
Al 4,000
2 4,000
OAEALIIEMULIIE SIS0l S8t S 2 Y| 113,280
O=Ssty 80,0002 *30% * 1224 28,800
Al 14,400
2 14,400
SEL 2! 100,000 *32% * 122 38,400
Al 19,200
2 19,200
Onssty 120, 0002 *32% * 122 46,080
Al 23,040
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S AEIS I
U 25 SN (MESX/2S - HSLO

0x

)

E2: OtsS A AHAZS (G E )
S HEM O (S H) - HIRAY - BAS Of) & o4 dE = Hm=2
- cC o= DT * - [= (=1 o = O:H{ﬂ,% Wsa
= 23,040
A AL IFE AICHL IHE 9 S0 E ) 3t &I Bty
5,000,000& *11¥ %13 55,000
Al 38,500
o 16,500
OAEAEHIIIENUHEIIEAE OIS E AU AHE
HEZ2 5,000,000 x11MICH*13] 55,000
Al 38,500
o 16,500
OrseE XIS AR XA 55,800 51,120 4,680
= 39,060
Al 16,740
301 PR AS 55,800 51,120 4,680
= 39,060
Al 16,740
01 AISIB&E 462 55,800 51,120 4,680
OLIYMNSUSH(OISLS XA E)
30,0002 x155HH x12& 55,800
= 39,060
Al 16,740
SNA=RA 29 1,571,344 1,447,790 123,554
Al 1,532,554
o 38,790
301 LBt A=Z 13,500 16,200 A2,700
12 JIEEN2 3,500 16,200 A2,700
I} g
30,000 *150% *33| 13,500
307 GlzZtol & 1,557,844 1,431,590 126,254
Al 1,532,554
o 25,290
02 QIZtAASE =X 1,557,844 1,431,590 126,254
OSAAdRR 2HH| 1,557,844 ,000& 101 A 1,557,844
Al 1,532,554
o 25,290
olor JtEIEOlE MalXIR AR 2,500 0 2,500
= 1,750
Al 375
o 375
301 et A= 2,500 0 2,500
= 1,750
Al 375
o 375
01 A2 & A 62 2,500 0 2,500
O - JIIHAEOIS AMEIXZSXE(2Y)
2,500,000 2,500
= 1,750
Al 375
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S AEIS I
U 28 }SAR(MASK/2S - HELO
SH9l: OtS =X MHIA S

0x

)

SH M HA(FA) - HRAE -

0x
I
=
[
2
=P
R
12
o
£l
0l%
IS

el

M

375

=l L=z 2,100 4,200 A2,100

1,470
630

= W

307 GI12t0ld 2,100 4,200 A2,100

1,470
630

= W

02 QltaaE XL 2,100 4,200 A2,100
& = X 700,000 »3& 2,100

= 1,470

Al 630

PAOls = 21,600 30,000 A8,400

15,120
6,480

= W

301 LetEas 21,600 30,000 A8,400

15,120
6,480

= W

= = 21,600 30,000 28,400
ogdltsd=s+E 100,000& 18 122 21,600
15,120
6,480

=

88 29 38,716 38,663 53

15,486
23,230

= W

307 GI12told 38,716 38,663 53

15,486
23,230

= W

22X 38,716 38,663 53

38,716,000 * 10 A& 38,716

= 15,486
Al 23,230

GRSFERSESS, 161,370 78,505 82,865
41,965
15,423
50,932
53,050

H =S4

O & A

ol
01
52
e
o
P
{0

50,050 45,330 4,720

N
2
e
T
Mo
02
=

3,800 4,200 A400

] 1,400 1,800 A400
300

<
o =
e 4o
3l
o

e
4
0
=8

O

lo
O

- S0HOH HE s (S, ol

3l 300
=2(2ME S) 1,100
g

3 - 0H0H M= 1,100,000& 1,100

©
O A
0 02 Onor
S
o
o
o
m
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S AEIS I
U 2% ISR (MASK/2F - HELO

0x

)

Sl RS (e @
- = — N e
SA BB H(BH) - MBAY - B2 Ofl & o il i~ o HRs2
03 A2 Y] 2,400 2,400 0
oAt 2,400,0002 18l 2,400
301 YerPAS 7,510 9,130 A1,620
10 SAFAIHIE A 7,510 9,130 A1,620
OOISSHHADILL L SL+DSHAT AHI24
50,0008 %53 32! x23] 1,500
OOISE MBSl 3]0 &AX A2
10,0002 * 138 * 123 1,560
OOMXE RS DS A4
50,0002 %402 x22 4,000
ORHASH SEEY AHEA 10,0002 «45% 450
307 2I2+0IH 26,000 26,000 0
02 QIAAMBE 13,000 13,000 0
O220/RE)| ARAXKA 13,000,000 13,000
04 DIISALRE 13,000 13,000 0
© 014 7 2H8 ALXI 2 (5002 13,000,000 13,000
403 XHXISHUIS XH2 0| 12,740 6,000 6,740
02 2IIZSHTHEHCHE AL b 12,740 6,000 6,740
OOMXST SISDEY 75,0008 *40% *2Y 6,000
OMBYHFTIL, YLHTS DS 6,740
Om=HI(80%) 5,000, 0002 5,000
O A& B 1,000, 0002 1,000
ONETOIR & 2balY| 740,000 740
IHLZANSL 2B 85,430 0 85,430
= 41,965
Al 41,965
2 1,500
307 2120/ H 85,430 0 85,430
=2 41,965
Al 41,965
2 1,500
02 DIRIAMBE 85,430 0 85,430
odZANYL 29NY 83,930,0002 83,930
=2 41,965
Al 41,965
ONFEAMNGAL SHN S 1,500,0002 1,500
SEAMHI 2. F=T2 I 22,890 33,175 £10,285
| 15,423
Al 7,467
307 2120l H 22,890 33,175 ~10,285
| 15,423
Al 7,467
02 QIHHARE 22,890 33,175 £10,285
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222,725

49,855
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218,064
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0x

)

Sol: AT SH (B9 &2
_ _ _ Muo
SN YO (BH) - MBAY - BYS Off &k o4 il i~ o Hm=2
OMASIEXIIE X 208,000
OJFH X2 bl 50,0002 %3202 * 122 192,000
Al 96,000
2 96,000
OFH X2 2,000,000 *8 16,000
Al 8,000
2 8,000
DRUANBBAE 22H| 188,890 175,541 13,349
Al 185,560
z 3,330
301 LBEAS 3,330 4,440 A1,110
12 JIEE A2 3,330 4,440 A1,110
OZXLAESAE A2(1HA)
30,0002 *37 %33 3,330
307 212H0I 185,560 171,101 14,459
Al 185,560
02 QIAAAEE 185,560 171,101 14,459
OZXLAESAESSE] 185,560,002 185,560
Al 185,560
GRSIENAME 29 97,080 0 97,080
p 59,640
Al 12,780
= 24,660
402 Q1220 97,080 0 97,080
p 59,640
Al 12,780
= 24,660
02 212HCHEH AL 24| 97,080 0 97,080
OUI2SIIEXRME 2l 85,200,0002 85,200
p 59,640
Al 12,780
= 12,780
OUSIN=XNAHE X2 22| 11,880
oYz 550, 0008 *1CH* 122 6,600
OREH 1,70020%10 £ *202 *1CH 122 4,080
O=2lH| 10,0002 1CH* 122 1,200
CH23I0tE RO0Pbs MUlA 88,140 0 88,140
| 61,698
Al 13,221
= 13,221
402 Q1220 88,140 0 88,140
p 61,698
Al 13,221
z 13,221
02 212HCHEH AL 1| 88,140 0 88,140
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el AWIIF Y cheld el
S . M. (5 HEAS . A2 A} OH HEE =}
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OLHRSIIIE ROJbE MHIA(R2, LKD)
88, 140,000& 88, 140
Il 61,698
Al 13,221
i 13,221
AYNYNMEH 2 N (CGESNISKAME O 84,000 0 84,000
Jls X&)
= 42,000
Al 21,000
= 21,000
402 QI2tXH=01A 84,000 0 84,000
= 42,000
Al 21,000
= 21,000
02 SI2+CH A 84,000 0 84,000
(OFaly Xl 84,000,000& 84,000
= 42,000
Al 21,000
= 21,000
OEZaotE AM3ES & 10,000 0 10,000
Al 7,000
= 3,000
307 212t0| 10,000 0 10,000
Al 7,000
i 3,000
02 QIZtBAE X 10,000 0 10,000
OCHR3IIHE HEAY X2
10,000,000& 10,000
Al 7,000
= 3,000
CEEAEIEANY 450,000 469,702 A19,702
= 300,000
= 150,000
CEAEE AMY(0tS MEIA X&) 450,000 469,702 N19,702
= 300,000
= 150,000
101 elH| 135,632 163,762 A28,130
= 67,816
= 67,816
04 JI12tMIZ2Z2 Xt 135,632 163,762 228,130
OSEAEE & 135,632
OJl=s 42,3003 x6 % 253 64,212
= 32,106
= 32,106
Oxg=sg 42,3003 x6H~112 28,426
= 14,213
i 14,213
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2
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Oul sl 5,000 x6Y 253 7,590
= 3,795
= 3,795
ONExg 7,200
. IS X 40,0003 x6ZE x12& 2,880
= 1,440
= 1,440
. &= HlE 20,0003 18E «12& 4,320
= 2,160
i 2,160
OgE Sty 400,000 6 *x23| 4,800
= 2,400
= 2,400
O=dzEE= 119,818,000 *4 . 5% 5,392
= 2,696
= 2,696
(OFargh=-K=4 119,818,000& *2.54% 3,044
= 1,522
i 1,522
OFINRYEE = 3,044,000 *4.78% 146
= 73
= 73
Ot & NESE= 119,818,000 *1.30% 1,558
= 779
= 779
020094 DJI2HHl ElAS 1,891,300& x3Y 5,674
= 2,837
= 2,837
201 LEt23| 203,762
= 152,822
i 50,940
01 AbR22lH| 174,182
O t=ZH| 96,842
OANREE 7 200,000 x12& 2,400
= 1,800
= 600
O8l =9 M=% 60,0003 23| x12& 1,440
= 1,080
= 360

OEgARE Z27 Ad(2AH,28X,8
g) 0,00 0%*123*3%* 79,200
= 59,400
= 19,800
OLSMHA M 1102 %30, 0000H 3,300
= 2,475
= 825
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2 28 SN (MISX/2S - HSLO
9l SEAEIEARY
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)

SN EY O (BH) - MRAY - BLS 01l & o Bl
Gil &t 0
O=sAEI 7L (A4) 16,500 *78f A+ 12 1,386
= 1,040
= 346
ostzdygugs 72 200,000 34 A~ x4 3] 2,400
= 1,800
2 600
OZRIMEAT (22, UASAX S) Ot
PSIE=gsl 100,000 2 *103] 2,000
= 1,500
2 500
OBga, TRY WAX 7Y
12,0003 x1&+3M 2+ 123 432
=2 324
= 108
OMz7=sz 756
. X 12,0002 *304 A =128 432
=2 324
= 108
o KX 9,000& *3 A~ *12& 324
= 243
i 81
OFAMEH AZE P2 3,528
. diOIMERED EHEH
200, 000& »3CH*33] 1,800
= 1,350
= 450
, YN TEED A3
16,0003 *18JH*62] 1,728
= 1,296
= 432
o2d=¢ 42,420
OBRY U SIIHA ol2h TALY
70,0003 x4 3 *30) 2 x43] 12 40,320
= 30,240
= 10,080
OESAEERAS FA&x
0,000& *x15H »23| 2,100
= 1,575
= 525
o=l 6,720
OOIZI 22X SAIHI  7,0008 «4H *202 122 6,720
= 5,040
= 1,680
(©FIpNI= 28,200
O A 70,0003 +3CH=12& 2,520
= 1,890
= 630
O& =D 70,000 +3CH=12& 2,520
= 1,890

_33_




S AEIS I
U 28 ISR (MASK/2S - HELO
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SH9l: SAEIEAY (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
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OZ2]3 29 AHFYUNE(HE)
950,000% * 1CH 128 11,400
=2 8,550
2 2,850
OmzIY 2% JIEYE 4Y ANE(2H)
490,000 *2CH * 122 11,760
= 8,820
2 2,940
02 IT2YH| 11,580 12,573 £993
0ZZT22 2 MA 600
ORBL3 2502 %400 *6 2 600
= 450
2 150
ORt g et 10,980
OR=H 1,70021 10 § 152 *3CH 122 9,180
= 6,885
2 2,295
22l 100, 0002 *3CH 62 1,800
= 1,350
2 450
03 A2 | 18,000 25,000 A7,000
0T S SaMBESH 3,000,000 %63l 18,000
= 13,500
2 4,500
202 Oft| 8,060 8,060 0
= 6,045
2 2,015
01 =UH0it] 8,060 8,060 0
W 20,0009 x2% 132 » 128 6,240
= 4,680
2 1,560
SRR 75,8002 22 +32 #43] 1,820
= 1,365
= 455
206 T2l 3,000 2,400 600
=2 2,250
= 750
01 HEH| 3,000 2,400 600
OCSYAEIE 0%, BI8RA S 29
10,0002 +300% 3,000
= 2,250
2 750
301 YerBAZ 38, 138 38,688 AB50
= 28,605
2 9,533
NIEEEERETE 24,000 24,000 0
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ZE: 25 - SN (MZX/2S - FEL0E)

19l C2AEIE ALY (o He
A -3 -H2A(SH) - HEAMY - BES O AF K %Eﬁcﬁ Hlws2
NEEETEEEE R EERE
10,0002 %202 *123] 24,000
= 18,000
z 6,000
10 BAFAIHI 2 A S 14,138 14,688 A550
ORI S AR O T AlHI 2 4
10,0008 #2252 472 2,350
= 1,763
z 587
OF25 L AADS S HNBAS
194,0002 +924 x35] 5,238
= 3,929
= 1,309
OZ20% H&X 24 50008 %2752 x43] 5,500
= 4,125
= 1,375
OXISAtEl WIEAIBHUT SAH|
7,0002 %152 *103] 1,050
= 788
= 262
307 212H0|H 55,600 46,900 8,700
= 42,462
z 13,138
01 o2 2| 24,800 22,000 2,800
OYLSEAANY SEPYH 60,0002 100 6,000
= 4,500
= 1,500
OF % °2H X 200, 0002 *70% 14,000
= 10,500
= 3,500
O, HS0F HAXA 40,0002 120 4,800
= 3,600
= 1,200
05 DI2IE2 29,000 24,900 4,100
oJ=BESY U FOISHI S
14,500,0002! *25] 29,000
= 22,512
= 6,488
06 282 1,800 0 1,800
OAEZHMA Y T2IUHAT 2YLEE
2,0002! *300 *33] 1,800
= 1,350
= 450
405 Xtorz S| 5,808 8,300 A2,492
01 RS ZH S| 5,808 8,300 A2,492
OCEAEEMH &P 5,808
OMEIl S PYUANRA & D234 5)
160,0002! * 10CH 1,600




A AR =X

A P - IEXE (ME=X/

el SEAEEAMY

_ _ _ Muo
SN HE S (E) - ERRE arey e HRE2
O&Ta X 2 180,000 *3CH 540
OoREJ ¢ =2 %, 2e)
800,000& 2CH 1,600
Ooxa 2¢ 245,000 »2H 490
ool 2¢ 130, 000& *2H 260
OtElE 2 498,000&* 1M E 498
OMZ0| 7 100, 000& 2K 200
OAH4 220,000 *1H 220
O&EAT| 200, 0003 *2J4 400
HY 2 ZHI(ALSI =S XIDH) (IIEH/DIE 100,328 101,101 ATT3
QA2 A (AL =X 1) 4,200 4,200 0
eI 2| 4,200 4,200 0
203 HRF&Hl 4,200 4,200 0
04 PN2ILRFAHI 4,200 4,200 0
ORNMZZHE=AHI 350,000 x12& 4,200
Jl2Z 8l (Atgl =X 1) 96,128 96,901 ATT3
Jl=&Hl 96, 128 96,901 ANTT3
201 Let2d] 35,648 39,301 AN3,653
01 AtE22(H] 35,648 39,301 A 3,653
OgBt=&H| 14,480
OsHMa=2S 14,480,000& 14,480
O=&Hl 21,168
O A2 21,168,000& 21,168
202 O4Hl 60,480 57,600 2,880
01 =Yl 60,480 57,600 2,880
O©2 L o8I 60,480,000& 60,480
Hegs(Atsl =X (Ats = X1 /AL 2l Bt) 5,174,729 2,404,846 2,769,883
=2 341,100
Il 14,860
Al 1,350,520
i 3,468,249
UWRAHHXIE(ASI S X D) 5,174,729 2,404,846 2,769,883
= 341,100
Il 14,860
Al 1,350,520
= 3,468,249
Azl (d3ad 2 1,673,407 0 1,673,407
309 BIITBNMEES 1,673,407 0 1,673,407
02 At - SHILUEES 1,673,407 0 1,673,407
OFAEESAE 2F 136,243
ool (29) 73,449,000& 73,449
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Sl LHEHAHKIS (AL =2 X ) (&te @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0f] AboH @;OH Hl =2
O=29H| 62,794,000 62,794
OFAEHSHY 2 1,537,164
OolAH|(20d) 744,137,000 744 137
O=29H| 793,027,000 793,027
ANEZEIZCHSS(HAEALE 222235 29X H) 4,000 0 4,000
p 2,000
Al 1,000
= 1,000
309 2IIYAMEEZ 4,000 0 4,000
b 2,000
Al 1,000
= 1,000
02 ZA- BHINMNFES 4,000 0 4,000
OHAHRSIOE 2IAKX3 X
2,000,0002 2,000
pJ 1,000
Al 500
= 500
OFAHLHZ 2HAKS XY 2,000,000 2,000
pJ 1,000
Al 500
= 500
ANEDRZCHSAY (R HAEAL HAE XIS AF HH 18,720 0 18,720
XX )
p 9,360
Al 4,680
= 4,680
309 ZIIPAMEME2 18,720 0 18,720
pJ 9,360
Al 4,680
= 4,680
02 ZA- BHINFES 18,720 0 18,720
OHAHRSIOE HAEXITA HiXIQ
18,720,000 * 1 18,720
p 9,360
Al 4,680
= 4,680
ANEZZZCHSY (22 HAESUAL T2 29 7,000 0 7,000
A=)
pJ 3,500
Al 1,750
= 1,750
309 2IIFAME=2 7,000 0 7,000
p 3,500
Al 1,750
= 1,750
02 ZAl- ZHAAMNNEZ 7,000 0 7,000
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. o= T ° . [= Bl e 0:”{:'_% Lsa
Al 301,000
OLQIYTElAIE (PUHAEl)  130,000& 430 55,900
= 27,950
Al 27,950
OLoldXtelAld MEelad 900,000 x3H 9 24,300
= 12,150
Al 12,150
ANEZe|SH2I(SFZEMHA S 2) 1,006,293 1,006,293
Al 577,410
= 428,883
309 BJ/gFAA ,006,293 1,006,293
Al 577,410
= 428,883
02 ZAt- 323 = ,006,293 1,006,293
(OFa3:] 947,488,000& 947,488
Al 536,246
= 411,242
QJIsEZAY 58,805,000& 58,805
Al 41,164
= 17,641
ANEZRIZE S (B S2AHIA) 44,630 44,630
Al 44,630
309 BIH3AH 44,630 44,630
Al 44,630
02 ZAt- =33 = 44,630 44,630
oM = A 29| 44,630,000& 44,630
Al 44,630
LosIII2HES 100,000 100,000
702 JI3HEZ 100,000 100,000
NEEEEE 100,000 100,000
OL=XID £ 100,000, 000& 100,000
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